AS 2.2 Graphs
Q1 A firm had two glasshouse for propogating a new plant before release onto the market.

     In each glasshouse 3000 seedlings were planted. The number of seedlings can be

     modelled by the formula 

                                                N = A x 1.2 t       N = no. seedlings,  t = time in months

   a) Draw the graph for the no. of seedlings in glasshouse A
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   b) How many seedlings will there be in glasshouse A at the end of 5 months?
   c) At the end of the third month glasshouse B is affected by a disease which overnight kills

       1200 plants but leaves the rest totally unaffected. On the same axes above draw the graph

         for the number of plants in glasshouse B.

Q2. A bridge is parabolic in shape. It is 8.2 metres high in the middle and a horizontal bracing
       bar 1.6 metres from the top is 2.4 metres long. How wide is the bridge at ground level?
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  Q3. P = A x 1.5 (t + 2) + B   (t in years)
         After 2 years P = 3500 and after 5 years P = 4650.  What will P be after 8 years?
